MATH 260 - QUIZ #4 | Name: ___|/1]

Directions: Please show all work for maximum credit. This quiz is worth 16 points. Good
luck!

1. Given the following vectors: % =(3,5,-2), v=(8,9,4)

Evaluate the following.

(1 point) a. 5(—217+317) fE&Lg/g’/ )4 3(5(/4/_ L/«)‘j
5’[(4/,-10,‘4 (24, ), 13)
=N (1@”/ (7/ 1b)
= (40 ¢S, §0)
(I point) b. Find Z, where 4ii+z =5V
2 = SV-4Jd
7 -5 (€6,4) - U(3,5,-2)
= (yo,4¥,00) — 13, 20, - )
= (2%, 23 >§)

(2 points) 2. Show why V = {A eM,, [ det4= 0} with the usual operations of addition and

scalar multiplication in A, , is not a vector space.

Aetf = O det Ay =0

%, PiEV ol AL EV,

How W, A+ A - [{\Tl ) (L44)= |
S, Atd, &V

¢ i \/15 VTO+ A 9"'%;/"“ of "."ia,a,
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(2 points) 3. Show that for any two vectors i = (u,,u,,u;) and ¥ =(v,,,,v;) in R,

c(@+v)=ci+cv.

¢ (j+§>; ¢ (.W//'f‘y,‘/‘g) ¥ CV,/V},U,?))
= (bMJr‘\/}/ UsHVs, Uzt V5>
- (CUA,W,)/ [(p4usd, € LU vad)
- (C‘/‘-/“ CVy, Gy + (Yo, (U1 cVs )

\ L 7., ANd. N/}
- (-’:"-‘{_/,:C‘v’!), ["frg,S + (Cv; ,CU5,CV3)

“CLla, U, 54;5) +C [ Vs, V3)

b
(4 points) 4. Show that the set S = {[a }
c a
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a,b,ce M, (R)} is a subspace of M, (R).
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